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1. X ¥#HX o HKI1-X

X(11-x) =18
x*—-11x +18=0

(3X —B)(X +2) =42

3x?+x-52=0
(x—4)(3x+13)=0

(x-9)(x-2)=0

x=9 or 2(# &)

X=4 or —1;(1 £)

£ =3x4-5=7
£ =4+2=6
BIET2A F62A

®4E XK
(x=2)(x+3)=204 (x-14)(x+15)=0
x?+x-210=0 x=14 or —15(% &)

£ 114 k&

TZE X, X+1, x+2
X?+ (X +1)%+(x+2)* =245 (x-8)(x+10)=0

3x?+6x—240=0

x=8or -10(# &)

x> +2x—-80=0 8+1=9 8+2=10
Z:=2#58~9~10
1 xR
X+3=(x-3)° (x-6)(x-1D)=0
x> —7x+6=0 X=6o0r 1(# &)

6.(1) &*I&#X

X2 —2x =63
X2 —-2x-63=0

(X=-9(x+7)=0

x=9o0r -7(% &)



7.

10.

1n

(2) 9°=81

ARE XD REX+20¢
x(x—2):%x(x+2) X(x-6)=0 6+2=8
X2—2X=%X2+X x?—6x=0
%xz—Sx:O x=0(% &) or 6
FiE82c 3

KEBE X
(24— x)(12—- x) =189 (x—3)(x-33) =0
x?—36x+99=0 x=3o0r 33(% &)

KEBE X

(30—3x)(40-4x) =128x6 x?—-20x+36=0
3(10— x) - 4(10— x) =768 (x—2)(x-18)=0
(10— x)(10-x) =64 x=2o0r 18(% &)

G ME X AT T EFME (7T0-2x) D °
x(70 - 2x) = 600 x=15 or 20

x2 —35x +300=0 ® x=15 = 70-2x15=40
(X —15)(X — 20) =0 @ x=20 = 70-2x20=30

§ 1152 % ,40 2 ¢

(1) KEREL4eF x@
(4+ x)(50- x) =329 O 25 ¢
X?—46x+129=0 J. x=3
(x=3)(x—-43)=0 4+3=7
Xx=3 or 43

6

& 202,30




(2) (4+ X)(50- X) =470 X = 23++/259

X% —46x +270=0 "X - AR
(x —23)* =259 SRR

1

12, ¥ 4=z 45=2FL 53X, X+2, x+4
X%+ (X+2)° =(x+4)? X=6o0r —2(% &)
X?—4x-12=0 2> =-:#£6-8-10

(X—6)(x+2)=0 34z £436ﬁ=%x6x8=24

F 24T H >

13. ®H e x 4 D F (30+x) 4 & 4 4z (5000—100x) *
(30+ x)(5000—100x) = 160000 (x—10)(x-10)=0
(30+ x)-100(50 — x) = 160000 x=10 or 10
(30+ x)(50— x) = 1600 > 30+10=40
x?—-20x+100=0

F 140 4

14, 22 105 0 g

X 1 2
X*=x+1 > E:X:H\/E
B 2
X?—x-1=0

15. & & kpFig x km/h

%+ xiosozl x2 —10x — 600 =0

#2503 ¥k %k X(X+30)
20(x +30) + 20x = x(x + 30)

(x-30)(x+20)=0
x=30or —20(% &)
Z 230 km/h



16. 1800:1800+12 Xx?+5x-750=0
X X+5
253 ¥k % X(X+5) (x—25)(x+30)=0
1800(x +5) =1800x +12x(Xx +5) x=250r -30(% &)
17. % AC=xcm BC=(10-x)cm
10x = (10— x)* + 4 (x—4)(x-26)=0
x?—30x+104=0 X=4or 26(% &)
18. #® L im#kcF X BrfkE x-4
10X+ x—-4=3x(x-4)+10 X=7 or %(7 £)
3x*-23x+14=0 B r#&x=7-4=3
(x-7)(3x-2)=0 > - ix#ki 73
% :73
19. Hk#FEXDR
(14 + X)(9+ X) + (13+ x)(15+ x) — x> =1003 (x-11)(x+62)=0
X%+ 23X +126+ X* + 28x +195— x* =1003 x=11or —62(% &)
X?+51x—-682=0
¥ 111 o
20. TR FE Xxom DL A5z hd Fxem (X+1)cm
1= x(x+1) D=1"-4x1x(-1) =5 x>0
1+ —
X?+Xx-1=0 X = 1£5 SooX= L+5
2 2
A LA CIPUN
2
70-2x
21. (1)(2) (70-2x)*=3600 Xx=5o0r 65(% &) -
70-2x =%60 70—2x |fEE X fEE

2x = 70+ 60 T




% 1(1) (70-2x)2 T+ 28 (2) x=5
5

(3 B E=VJ5+5
/50 5%
=52
% :5/2 a¢
22. P AR B B 0 i SO0 =R
77 ~ed A@F R ; 2X
.oXi(2x—-24)=(2x-15): X A 24 B
(2x — 24)(2x —15) = x? EF; 2
4x* — 78X + 360 = x*
X?—-26x+120=0
2X
(x-6)(x—20)=0 A 2x-15 B
N _
x=6or 20(% &) ~ x 7 g5
€ >
=2 2x20=40
$:40 22
(2) V,:V, =20:(40-24)=20:16=5:4
2 :5:4
23. & 9=X
a
x+£—1:5 X:Gi@:6i4\/§:312ﬁ
X 2 2
253 ¥k %X o a>b>0 .. O<xx<l
x> —-6x+1=0 > x=3-2/2

D=(-6)"-4x1x1=32




